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[Summarizing Numerical Data Sets - Guided Lesson Explanation ]

Explanation#1

We can see that the missing bar is for pineapple flavored cake.

And the height of the bar for the pineapple flavored cake is going to be 4.
Set the height of the bar to 4. So the answer is 4.

Explanation#2

We will count those numbers which comes between 60-69.

There is only one number. That is 64.

Houses

Number of students
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0-9 10-19 20-29 30-39 40-49 50-59 60-69 70-79

Student’s dresses
Explanation#3

For solving, we will calculate the total number of bottles needed in all 4
cases to have an average of 21.

21 x 4 = 84 bottles

He has a total of 60 (20 + 18 + 22) bottles in the first three cases.
84 -60 =24

So, there should be 24 bottles in case 4.
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